[ Efficiency vs vertpos |

-
o
o
(]
>

[
>
>

[S]
§0.14

)
=
)

Ratio

Efficiend

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.2

0.18
0.16

0.12

0.1
0.08
0.06
0.04
0.02

.............................................

.............................................

.............................................

1.0

o
©
a

=
2
N

10

10 0?
TP vertr (cr%)

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—— DQMstep3_SoftQCD_ckfPixelLess

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

.................

.................

.................

.......

.......

.......

..................

..................

..................

0

2

[ Efficiency vs. sim PV z |

N
>
o

Sim

Y
>

efficiency

0.5
0.45
0.4
0.35

o
w

TP vert z (cm)

e b 1

»

0-8 6 4 2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


